
EAP 1221 – Reading Level II

Quantitative Literacy Exercises (Answers)

Numerical Expressions Mathematical Symbols

Thirteen plus eight equals twenty-
one.

13 + 8 = 21

Forty-eight plus nine equals fifty-
seven.

48 + 9 = 57

One hundred twenty-five minus
thirty-two equals ninety-three.

125 – 32 = 93

Seventy-one minus thirty-three
equals thirty-eight.

71 – 33 = 38

Six times twelve equals seventy-two. 6 · 12 = 72

Eight times eight equals sixty-four.  8 · 8 = 64

Thirty-six divided by nine equals
four.

36 ÷ 9 = 4

One hundred twenty-five divided by
twenty-five equals five.

125 ÷ 25 = 5

Eighty-three percent. 83%

Ninety point five percent. 90.5%

[Zero] point four five 0.45

Two point three equals two and three
tenths.

2.3 = 2 + 3/10


